CH4 ~ 4Rl R X
ALK BN

B é% :
4-1 — M A R B
EE& o BN
eI G S O
T EEECER S SNC VU GREAN
% f# (Convolution)
4-2 BEH
4-3 5 B R BT
JE B 3
4-3 KA ST

4 Fn (Partial Sum)



4.1 — R E R RE

E#&

A0y covy Any ov. - %ﬁﬂ

EFHRAR) =ao+ax +ax+ ...+ X"+ ... = Yo anx"
1% % an 7 Generating Function(GF)

AR

L. (14x)" =% C"x"

2. 1+x+x*+...=1/(1-x) = Yo x"

3. 14+x+x+. o Ax" = (THx+x3+.L) - (X 4x24+.)) = 1/(1-x) - x*Y/(1-X)

I+x°+x%+x° = (1-x2)/(1-x°)

B1(94 7 K)  an=2"+3"n=0,1,... K a, = Generating Function : A(x) ?

Alx) =2 anx" =X (2'+3") = Yo (2x)" + X0 (3x)" = 1/(1-2x) + 1/(1-3x) = (2-5x)/[(1-2x)(1-3x)]
= 1/(1-2x) + 1/(1-3x)

(99 & K) : 5k 0,1,2,...~7 Generating Function : A(x) ?

a"=n, A(x) = o nx"
1/(1-x) =2 x" = [1/(1-x)] =20 (x")’ = X1 nx"" - 0
= A(x) = x[1/(1-x)]" = x[1/(1-x)]’] = x/(1-x)}

1. C"+C+...Cl="?

2. 2°C+21Ch+ ... +2°Ch = ?
3. 1C"+2C"+...+nC"=?
4. 1’C+2°Cl+ ... +n*Clr=?

1. 2

2. 3

3. M cn(l+x)" =X rClx = n2n!

4 M T A nx(14x)" = X rCl

e n(1+x)"" + nx(x-1(1+x)"2 = X1 r2C/"x™
= n2" + n(n-1)2

Note :

C"=n!/[r!(n-1)!] = n(n-1)...(n-r+1) /1! - (LE FH n€ER

1. C=(-n)(-n-1)...(-n-r+1) /r! = (-1)' n(n+1)(n+2)...(n+r-1) / r! = (-1)* C,>*"!
2 (14" = B (1Y G () = 3o (1) Gy

3. (1-x)™ = Yo (-1)C™ N (-x)" = 3o M Ix* (5% # FE)

F(98 HF1ly) : Cs° + Cs7 = ?

(-1)3C&*81 4 (-1)°C55+ 7
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xt’:(?(l+x+x2+”‘)10 ()0[1/(1 x)]l() _ x(x() Z ‘ I()+r l
=) r:12 =) C”I(HIZ 1 _ C]_’_)I

@d (98 ﬁ]—'ﬂﬁ j() AR = S x4 0

o x® ZARBUA T 2

g(?(1+x +x6+x +x 10 _ x)()[(l xl\)/(l x)]l() _ u()(l xl,))l()(l x) 10

g()(l _ onb + 45x30 + )[Z() “}_I()M I(x)]
C“)I()HO—I + (_10)C_1()+5—1 + 45C010+()—1

R

e +:o0r
aX - :rand
FiE Bk

(1x° + 1x' + 1x2 + 1xX3)(1x% + 1x' + 1x* + 1X°)

=14+ 2x 432 +4x° + ...

Bl e EMED - HE 0 EREEET - AHFEE

ke

# -7 1 = Generating Function = I+x+x’+...
AL Alx) = (1+x+x°4+...)"

HE A B(X) = (1+xX+X2+.. . +X"+... )"
B(X) — [1/(1—X)]n — ZO Crn+r—er = Crn+r-l

Note :
E R AFF R F

CXTZ AR B

% -7 1 Z_ Generating Function : X+X*+...+x"

B(x) = (x+x*4+...+X)" » K x" 948 ?

/x/(] _x)]n — xu[]/(l _x)]u = x" Z“ Ci/1+i-1xi
— CHIUH-n-I — CH‘)-I

S
=SH R T
=& HENE

Bl 0 A RY - TARFFER B 4R

i 1 = Generating Function © 1+x
:A(x) (1+x)" - K x" = 17 &
Alx) = (1+x)" = X, Cx, AﬂS = C "

~_ Generating Function % {7 ?




71(99 6 K) & xxdexext = 24, 3<X<8, Vi - sk B B (E L ¢
=

(x5 x7 x5 K R

= x 2 (1+x+x2 43 +xt0x0) = xP2[(1-x°)/(1-x)] = x12(1-x°)*(1-x)*

= xP2(1-4x°+6x"2-4x " +x7) = 3o CH 7 1x"
= C M _4CH 4+ 6

51(98 F, K) : —18 Die & 12 5k - Ei#i 4 % 24 A% BT ¢

Xi+... X2 = 24, 1Sx,£6
Ax) = (x++...+x°)12 - K x =z F 4

] xi+2x0+3%5=20, x:20

(I4+x+x2+.. ) (1+2+x . ) (14X5°+...) - K x* =z 75
A(x) = (1/(1-x)) x (1/(1-x°)) x (1/(1-x°))

(97 F4t) + n TEAE A 1, 5,10, 20 4H4R 7 7 & a® + 3k a® % Generating Function ?

X1+5x:+10x3+20x4 = n, x;20
(I+x+x7+. . )1+ +x"+. ) (1 +x04x2+. . ) (1 +x704+x7+...)
= A(x)=1/(1-x) x 1/(1-x°) x 1/(1-x"°) x 1/(1-x*)

Bl {1, .., 50 4 BL7 (BN AR - &Mk ¢

X X X3 Xy

= x;+X+...+x3 = 50-1 = 49
X1, X320, X2y vuey X722
Alx) = (T+x+... P x (C++...)° - K xP = Z 2]



4.2 BE 5 F

Note :

A po ROk n A EFHE 0 pi=1, =2, ps=3,ps=4, ... * A po=1 - pa Ml E 7t n fH
MEE - BEnEMEET - AFERNT®

4 P(x) = Yo Pox"

1 I B R E 7 A R Tx4x+... = 1/(1-x)
2 WA R E AR T+ = 1/(1-%)
3B R E AR EE 1+, = 1/(1-XY)
4 W BRE 7 AR T3+ = 1/(1-xY)

Al 1/(1-x) x 1/(1-x%) x 1/(1-x%) x... ® > x* 8914 % > Bl P, 1<r<n

1 F#s
2. BEL

| 7 Generating Function : Peaa(x) = 1/(1-x) x 1/(1-x*) x 1/(1-x°) X ...
| 7 Generating Function : Peven(x) = 1/(1-x?) x 1/(1-x*) X 1/(1-x°) X ...

Ty Th

Bl - vnezr 3 n g B EI B =0 AR E B

+

Sa' Fonn =z

 Poaa(x) = Yo a"x"
7: Pr\wz(x) = ZU b”x”

A W E o~ — 1k
SV Ao Z

& Pa(x) = Pu(x)
Pulx) = (1+x)(1+x°)(1+)(1+x%)...
= [(1-x*)/(1-x)]x[(1-x*)/(1-x*)]x[(1-x°)/(1-x°)]%... = 1/(1-x) x 1/(1-X°) x 1/(1-x°) X ... = Poua(x)

Bl - vneZ' - 3 N RENEH = ZTAARZDEHE
r=2:

4=3+1=2+2

4 =242 =2+41+1

#| | Ferrer Graph
8=4+2+2,8 =3+3+1+1
o o 0 0 5 000
L L )
L I ) °



4.3 B ERRE
w#

an A — 83| » F &/ AX) =Yoanx"/n! © % a, 7 Exponential Generating

Function - % EGF

AR

1. e=Yox/il=1+x/1' +x*/2! +

2. e*=Yx/il=1-x/1!+x*2! - 3/3!+
3. 1+x221+ x4 + ... = (e*+e¥)/2

4. x/1'+x*/3! + x5/5' = (e*-e¥)/2
M3k

& E R

1. #14 : Generating Function

2. #F%| : Exponential Generating Function
B ERAET

1. #[EZR : Generating Function

2. # 24y : Exponential Generating Function

B o0 AR A FFEEE r S
2 1~n =2 EGF - 1+x/1! +x%/2! +
Alx) = (&) - Kx/rlz FE - A(x) = e™ =3y (") /r] = Yo n'(x'/7])

] mfﬂfﬁg—i% HEnEMERET  TAFEHR ?
4 1~n g7 EGF : x/1! + x*/2! + ... = &*-1

Alx) = (e*-1)" - K x™/m! = (X2

Ax) = (-1+€)" =2y C'(-1) (e )” =2y (-1)'C" Yo [(n-i)x]"/m!
=2 [20 (-1)'CH(n-i)"] x"/m!  //onto(m, n)

F(10 1) : Wt n F7+

1. S 1BEUE 0 By 55| BB »

2. AEBUE O BEE 1 A BUAL ¢
3.0 40, 1 EUR AT F BA

4% = EGF - 1+x%/214+x"/4!+... = (e"+e™)/2
7= EGF : 1+x/1!1+x%/2!+...

= (e +e*)/2x e x e x e K xYnl Z FE

A(x) = 1/2(e*+e™) = 1/2[%, (4x)”/ﬂ’ + Zo (ZX)”/ﬂ’] =1/2 %o (4'+2")x"/n!
2. [(e+e¥)/2)P x e x e K xYnl = L
3. [(e+e¥)/2]2 x e x e + [(e‘-e“")/Z]Z X e x e K xnlZ FE

(99 &) : ENGLINE It 4 8 5- 5450 # £ (8 »
A(x) = (14+x/11+x/20)(1+x/11) -+ K x4l = 75
A(x) = (142x+ 25423+ 1/4x*)(1+2x+x7) - XY 4] = [F 50

=242+1/4=17/4 : x'/4! =

Z#=17/4x 24 =102



44 RfnH F
Note :
A(X) = Yo anX" = ao+aix+...
1/(1-x) A(x) = (1+x+x>+...)(ao+aix+...) = ao + (ao+ai)x + (a+ar+a)x* + ...
4~ Sn = apt+ai+...+an 2 an 2 Partial Sum
A 1/(1-x) A(x) = S(x) % Sa 2 Generating Function
an=111... - A(x)=1/(1-x) - f& 1/(1-x) Z Sum Operator(zK f1 5 -F)
Sa=123... — S(x)=1/(1-x)*
136... — S(x)=1/(1-x)*

BI(7 1E) © sk 3*2%1 +4%32 + ... + (n+1)n(n-1) = »

Alx) =2 a,.x" =Xy (n+1)n(n-1)x"

I/(1-x)= Yo x" = x/(1-x) = Yo x""!

= 6/(1-x)" = 3, (n+1)n(n-1)x"> = 6x%/(1-x)* = 3, (n+1)n(n-1)x"

..Sn #7 Generating Function : S(x) = 1/(1-x) x A(x) = 1/(1-x) x 6x*/(1-x)"
S(x) = 6x%/(1-x)°



